—é— ;I: N RS Y4 (N
RS SIEMPEREZFERE FEXRE BFEFEEESE
70| gHa | 1 B |IEfI|  EM AL g o
1
NEIE.. 2 10/ 1 BE B2 — ]
5
o | me |O 0—1]| 2 R C1 —’-g ;
2 : ;
E®M D2 — i B
BEH D1 — o
v [ — E =R
Jovo|sra| 1] 2] 3 BE | B ® o
: @ FE A2 —§ B
1| xm ® 2—0| 1 \
— | A Bl %
B|2| @@ | § | 0—2| 3 | _ @]
| BERR C2
3| B4 @ | ° 1—1] 2 ®
Ay e | 1| 2| 3 -3 G - BT R TE 8%
1| R |9 @ 2 0| 1 R Goms 2 B3
| 3 \ H @ BRR
C| 2 BBk | | 1 —1| 2 | BEdL Ooks , =
3| &% ! 0—2| 3 BER
7oyl ¥RE | 1| 2|3 RSB | NEAL
1 | gEm | @ @ 2 —0f 1
D| 2| &% |1 |2 | 0—2| 3
3, 1
3 | REFH &) 1 —1] 2
—é— ;I: N RS Y4 (N
R SHMHPEREFEARE FEXE XFEREBESE
BER ReAst
7avy| #E | 1 B |IEL|  EF E1 2 —
= | @ - o O @ E4B
L] e 1T—0]| 1 e I eI N
2 | RE| | 0—1| 2 | BEE G2 — i BEDR
= :
% - T
- , EBH E2 — @
Tavy| e 1| 2|3 B |IRG =
3 EI G1 )
1| #E @ 2 —0]| 1
Fl2| @R |1 |1 | 0—2| 3
3| #% 0 1 —1| 2 s o
2 NEATRREE
Ay e | 1| 2|3 BB |IEfL| BB ook E B
S ® BHEH
1| B ® 2 —0]| 1 hE  @okH =57
G|2|#Em |0 20 1—1| 2 R
3| K#E |1 1 0—2| 3




SHSEE

e
=

o

REFK

A

=3

A=

= =
&S
i B EEB Z 30 3l
5 T I0 mmeek O BEEHRERK O FRAFEHK O BtEhRhsf
R EBR % 311 % 3L
O EMRFR O BERRAER O 1B O BEERERK
O Z5h
O HEHHK
O BRA MBI
B A
B F B AL « AR BB SERRA AR 5 3hr SEARA AR 37 PR AR RIS
50kgf | thE sHan (R - 2) B B (¥ - 3) S (FEHB - 1) 3
55kgik B B (FHG - 2) A I (EH745-3) K iz (FE45-3) ZH SN (B4 +3) 3
60kgik | #b BEK (FE45-3) B A (F I - 3) 45 i (FE45-3) 2
66kgfl | /A fEE (FE5-3) TE AE (FR-3) ML 2 (Frfi-3) ATy | (BEERE-3) 3
73kgik L ) E:iR) N (BERSF-3) K U (FFR-3) 2
81kgik b R (FE5-3) £ B3k (B -3) iR # (KHH-3) PR A | (REEk-2) 1
90kgk HiE X (5% 2) IR (B -3) N e | (BEETR-2) 2
OOkglAME | iR B (R -2) B gk (BEFER-3) ERlFS: (BERG - 2) B # (FEHE- 3) 3
T BB SEARA AR BB SERRA AR 5 3hr SEARA AR 37 PR AR RIS
A0kg#k Mk g2E | BEETe3) | R DR | BEE2) | FE EE (FE45-2) 3
A4k g ELUERS (th)2-3) iy % (FEH5-3) B 17 (f)2-3) WM Ay (FESR- 2) 4
A8kgifh s (FE5-2) WIE A6 | (BEBp2) | OHE O (fh)2-3) AR DY (R -2) 2
52kgik G &b | BEETR3) | MPHEEF | GEETR3) | WME ER (R -2) i A (K¥H-3) 2
57kgik I MEA (PB5+3) A A | EEETR-3) | BmRT (BEESFE-2) | M= AREAy | (BERS hak-2) 4
63kgik B BT (BEGFE-3) | /k S FiIZ (B4 - 2) 2
TOkgtk | ;& (RS- 3) 1
70keiBfk | fEH ETR ({45 3) 1




